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            Year 9 Numeracy  
              Worksheet 6 

	
  
	
  

	
  

Questions	
   Answer	
  
	
  

	
  	
  1)	
  	
  	
  	
  	
  Write	
   9
1000

	
  as	
  a	
  decimal	
  
	
  

	
  

	
  
	
  	
  2)	
  	
  	
  	
  	
  7064	
  ÷	
  8	
  
	
  

	
  
	
  
	
  	
  3)	
  	
  	
  	
  	
  Divide	
  $800	
  in	
  the	
  ratio	
  3	
  :	
  2	
  
	
  

	
  
	
  
	
  	
  4)	
  	
  	
  	
  	
  Increase	
  $70	
  by	
  10%	
  
	
  

	
  
	
  

	
  	
  5)	
  	
  	
  	
  	
  	
  Calculate	
   2
3
×
3
8
	
  

	
  

	
  

	
  

	
  	
  6)	
  	
  	
  	
  	
  If	
  a	
  =	
  9	
  find	
  the	
  value	
  of	
   6a− 5 	
  
	
  

	
  
	
  
	
  	
  7)	
  	
  	
  	
  	
  Simplify	
  6x	
  +	
  3x	
  –	
  4x	
  	
  	
  	
  	
  	
  
	
  

	
  
	
  
	
  	
  8)	
  	
  	
  	
  	
  What	
  is	
  the	
  area	
  of	
  a	
  triangle	
  which	
  has	
  a	
  base	
  length	
  of	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  8	
  cm	
  and	
  a	
  perpendicular	
  height	
  of	
  12	
  cm?	
  
	
  

	
  

	
  
	
  	
  9)	
  	
  	
  	
  What	
  is	
  the	
  supplement	
  of	
  75°	
  
	
  

	
  
	
  
10)	
  	
  	
  	
  Find	
  	
  the	
  value	
  of	
  a	
  if	
  7a	
  =	
  91	
  
	
  

	
  

	
  


